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£ [ B - Bkt B = B ® 5 W E
BRI 12,479, 728
TEBRERIERER 12,479, 728
TEBRERIERER 12,479, 728
TEBRERIERER 10, 370, 400
TEBRERIERER 10, 256, 400
1 ZEBREREREZED EEEE 12.00 39, 900 478, 800
A
2 EEBEREREREHEO 1B LB i E 12.00 814, 800 9,777, 600
A
& - S 114, 000
3 HE - S EAMHERIE, PREHRE2E. RREEIE 1.00 114, 000 114, 000
%
EEZE 2,109, 328
EHERARE 97,776
4 EHERARE 1.00 97,776 97,716
=
EEREREE 195, 552
5 BEEHERARE 1.00 195, 552 195, 552
=
AR 16, 000
6 ¥ERRERE 1.00 16, 000 16, 000
=
EBAEBEENS I VERES 1, 800, 000
T XEREREEHBLVERES 1.00 1, 800, 000 1, 800, 000
=




WEx SHTEEBSBE TARBEEFESERERERER

A g B - BIKTiE B4 B = B il ® 8B W =
E R i 10,370, 400 + 2,109, 328 12,479,728
EEAGE 10, 370, 400
EERE 2,109, 328
Z Dt R 10,370,400 x 42.86% ( 30% + (1 — 30%) ) 4,444,753
RERE 12,479,728 + 4,444,753 16, 924, 481
—REEES 16,924,481 x 53.85% ( 35% = (1 — 35%) ) — 8, 314 9,105,519
KBS 16,924,481 + 9,105,519 26, 030, 000
HEREELE 26,030,000 x 10.00% 2,603, 000
RHREH 26,030,000 + 2, 603, 000 28, 633, 000
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&5 1
2% . TREREHERERD BTEEME ICED
% r g - BIRTE BARL #H =2 B Of L i s &
AR (A)
A 0. 700 57, 000. 00 39, 900
& it YEZREH : 1.008 39, 900. 00 39, 900
FIEEREAMEIE AL
T —EWE: BTL
&5 :2
L EEERERMEREHQ HEHEME ICEY,
% 7 R - BARTE BARL #H = B i %8 i s &
LTS Em (C)
A 1.000 814, 800. 00 814, 800
& it YEZREH : 1.008 814, 800. 00 814, 800
FIEERESMEIE AL
T —EWE: BTL
&5 :3
L %5 - |E FAipEIE. PRKRS2E. SRHRE1E =1
% 5 g - BIRTE BARL #H = B i %8 i s &
AR (A)
A 2. 000 57, 000. 00 114, 000
& it YE%HERN : 1.00= 114, 000. 00 114, 000
FIEERESMEIE AL
FH—EWE: TL
E2=
&% BRARE =1
£ r g - BIRTE BARL #H = B Of % i if &
EHARE
= 1.00 97, 776. 00 97,776
& it YE%8ERN : 1.00= 97, 776. 00 97,776
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55
2% EERERARE =1
% r g - BIRTE BARL = B Of & % i s &
BERERARE
=® 1.00 195, 552. 00 195, 552
& it YEZHERN : 1.00= 195, 552. 00 195, 552
FIEEREAMEIE AL
T —EWE: BTL
&S :6
2% EBHRRE IEEL,
% 7 g - BIRTE BARL 2 B i & # i3 s &
EBHERRE
=® 1.00 16, 000. 00 16, 000
& it YE%HERN : 1.00= 16, 000. 00 16, 000
FIEERESMEIE AL
T —EWE: BTL
&S
& ERAEHEEHBLUVERES =1
% 5 g - BIRTE BARL = B i & # i3 s &
EBAEBEEHSLVERES
=® 1.00 1, 800, 000. 00 1, 800, 000
& it YE%8ERN : 1.00= 1, 800, 000. 00 1, 800, 000
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